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1. WOFHHEEZ LRI,
(1) 243+598 (2) 56 xXx21
(3) 1116=62 (4) 2. 6—1. 9
(5) 7. 2X0. 5 (6) 71. 2+8. 9
(7)i+ 3 (8)3+ L
7 7 3 4
(9)1— 1 (10)i><3
5 7 4
1
(ny =2 - =2 (12) — = 2 x 2+
5 9 3 7
(13) 100— (38+47) (14) 6 X 7 —2 1 + 3
(15) 34+5x (17 —8) (1) 2 - 2 . 3
7 4
2. kol b TixELIHEERD RS,
(1) 3:1=6:[__ | (2) [ ]:4=18:24
(3) 8+4[___J=15 (4) [ ]-5=9
(5) [ |x8=438 (6) 56  ]=38
3. ( ) OO TELR I,
(1) 3m (cm) | | (2) 27 0m (km) | |
(3) 4L (mL) | | (4) 300ke (t) | |

4. ko[ JebTRrEIHFEES LRI,
(1) 8oo0Mme® iz ] mTY,
(2) 50AD7T0%IE__ | AT,

(3) 200¢gmw[ ] %E30gTT,
(4) [ 1 H®60%iE210MTT,
(5) e[ | mT3MEMAED L 240mERET,
(6) "#E1 00 mT3MEMBESE [ | miERES, /32
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